AL 5T B 5 4R B 2 A

AR L (2025) 28 &

ALEHIRABIAR 2 RS 45 Jm
ALEH AR BITHOR B2 X Ay

& X B

HERNTM CERFBFRRATH AR NE (2021—2035
N, BiFth RS RN, BAEEALN KRGS, WEREA
EER LRSS, “DLEMRE. “UERRY, #—FHHIRN
BE#HELARE, AOmdb R T ERAEESE 45 B EFDFH/H
A AREEDK,



—. (EEFEEZWR

% 45 v K F D F R E A A5

Z. EEERER

AR EDFEREAFTAFELET1I194F, 2402 FHEE,
AT TEHED FHYLONF AR FELTE NEEHEHERE
kG mAEBFD SR PO AFNXIEESE, TR THE
“FERETN ZFONEHZ —; TR BEREAFTIFSSEREFE
MEETG. KRERK GV FRFAE. R#FVFHAHF
KR REAFEREDERHOFEEAT E T ERET EEAE
A

%45 R F D F R A F A 2035 FE A HEE
LR HACT R E L B REE AT, o ERFDFEHRE,
BERMFRE. AHER. Bk . BINESEMMLAE®; 3
YR F ZO AR A, Atk R, B F D AR R AL
BTSN EE R, MR R E T KEA; LRRAET,
RAF R E BT EEAT TEAUALREZITTRFT D H#
HNGHTa; BFERFLESE, URELK, RAMFLLFH
BB Z TS 2.

%45 mAb T FH D EREAF AEK T 2026 4 3 A TAAF

=. TIEimRE
(—) EA et



B AL A K ATAE S

(=) BRREMH

HEEWNXER, THE 4SBT F D ERHAHKE D
FHIFAT 2025 F 10 A 10 H 15: 00 i = ZQ1 3 AR 4 £ 2
45 : byscc®126. com,

(=) Ra b

HATA T ARUAZ LU LA E LR G, EEEITE, #HE
% 45 AL T ER A AFEE LK,

M. EEFRE

P NHAE S TS NAE R B R #ATIRE, B EEE R
N TR

1. RAE X B9 78 20 3 4k 2R E; INBEHFRFFES
77 T 6 B N AR i R AL A BT AR A A TE K.

2. th BR8] VE 2 T TN R . RERILE

3. MAER BRI EB O XFNE . BRRENESF, THERX
HEA I ARNALELE TG LT K LFARRE, 3
AR AE A E A E SR TE, @B EARTHAAL. R#E. T
fE. MW E . NA. HITFIRAEETHT ARRE;, B AE
HEAHF AR EHE . R REF R L T2 FHE,
Fw. M. BRZenEF AR RETE.

4. PLAE X2 7 KR W RF BB Z Ry LA F A
REFHENRZTEWNEA .



SERENALLREF, TMEHGTRENERAAT
1E, BERNZHEAEI 2 K AR SR 3 7 m e fofh 3. x
o RAR IR o AR L, 3% B KRR BUE 20 AR A A ARG

F. FHENE

B s 7 K D SRR BT BROR A B, 1% il BLRY 200t
G136 m, e AL 8 Ty AT KSRLAT Ml (kS A AR K F
EHGNTTER . RAREZTIE, MAE K NFDFHHE
.

AHTEFARREH, HHEXET AATMEAL.

7~y BREAR

RFR7E 20 P 4t

https: //www. bjsc. net. cn/recent/ScienceContest/bjgsn
kjcxds/

K& A T KT

i, 7. 83059931, 83059933

firfr: o 45 AL & D F AR 3T KSR 58 H iR Ak




Bt 1

5 45 AL AR BB R R Ip R i
BREA: BRZ B

HE RIS R (R E)

Y e TR &F:

wé\éj\]‘i&;ﬁ:
(Fh FHAF)

LA 7 4k

= HEAHANGHER (R )

ENREIEHRE
KR

ENRETHE
FEALEL

B RN
& i A AR

= fEFE (AR AR

P2/ 38 i 4K

T AL A H -

W, HifE R

PRI V& 2
(B %)

. Hf

H A F EAN TR
By 1 I




